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= 2sin f#siny =
4cosa 4cosx

= 2(sin crcos ¥ + cosarsin ¥)sin y =

4cos
= 2sinrcos ysin y+2cosasin® y = !
4coscr
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- —8ksin® @cos” @ + (- 2k* +6)sin® @cos 6 + 3k sin O
+(= 2k = 2)cos® 6+ Sk cos> @+ (— k> +1)cos O+ k* — 2k

!‘: p:pn ’ p'=pn+1
% n—oo FF > limtan p,,, =limtan p,
sin@ _ 8ksinfcos’ O+ (~8k> —8)sin Hcos® &+ 2k sin Bcos O+ (3k> +3)sin 8

k—cos6 —8ksin® @cos® 6+ (—2k* +6)sin> Hcos 6 +3ksin’ 6
+(=2k> = 2)cos® @+ 5k cos® O+ (- k> +1)cos O+ k> — 2k
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= sin ( 8k * cos® @ —8k> cos> @ —8k cos” @ + 2k* cos @ + 3k> + 3k —8k cos* 6 +8k* cos”
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FL=EPY 74.13° 36.87° 69.00°
CIa = Al 55.53° 63.56 60.91°
FY TWASEL 62.02° 58.19° 59.78°
USSR = Al 58.95° 60.88" 60.16°
SYPU AR 60.51° 59.55° 59.93°
ISRl 59.74° 60.22° 60.04°
VRN =2l 60.13° 59.89° 59.98°
Y- TR 59.94° 60.06 60.01°
CURARR =] 60.03° 5997 60.00°
Iy ] e 60.01° 60.01" 60.00°
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B = Y, ZA ZB ZC

B EPY 49.50° 46.56° 83.94°
Sy VR 69.01° 68.28" 4271
Py WAL 5742 58.08" 64.50°
PSR = 2Al 61.36 61.10° 57.53°
SYPH AR 59.35° 59.49° 61.16
ISR Al 60.33° 60.26 59.40°
Sy TR 59.84° 59.87 60.29°
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Sy TR 67.56 66.19° 46.24°
Iy = VAR 5726 58.37 64.38"
SYPH VA 61.42° 60.98" 57.61°
EAStR - 2Al 59.31° 59.56° 61.13°
LRI Al 60.35° 60.23° 59.42°
ELae = =Al 59.83° 59.89° 60.29°
CIEAR - =Al 60.09° 60.06 59.86
Y] VAL 59.96 59.97 60.07
EE= Y ZA ZB ZC

FLZ EY 35.10° 90.00" 54.90°
LAl 64.62" 38.56° 76.82°
Sy TR 63.98° 64.25° SLIT
IS Al 58.46° 58.2T 63.27
MR- 2Al 60.84° 60.92" 58.24°
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By TR 48.3T 18.7T 52.86°
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ELStR - 2Al 61.14 57.68° 61.18
LRI Al 60.28" 59.44° 60.29°
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Sy VA 59.98° 59.73° 60.29°
ELEAR = eAl 60.01° 60.14° 59.85°
Y] e Mg 59.99° 59.93° 60.07
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e = EPFY ZA ZB ZC
B EPY 47.20° 90.00° 42.80°
Iy R 72.85 36.95° 70.20°
U Al 56.84° 63.56° 59.61°
Iy = VA 61.52° 58.11° 60.36
CH I Al 59.23° 60.91° 59.86°
1SR 2iAl 60.38" 59.54° 60.08"
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LR EAl 37.19° 5647 86.35°
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